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Ex15 -A

1 .Name the line segment :

a) AB, BC,CD,DA ,BD,AC c¢)PQ, QR,RP,TS,SP,QT,RS.
2.a)Vertex—EArms- EFANDED c)Vertex—Q, Arms—QR, QP
3.a) Acute angle b ) Obtuse angle d) Right angle .

6 a) AB=BC=CD=AD=4.7cm b)PS=QR=2.7cm ,PQ=RS=4.8cm.
EX-158B
1 a ) Equilateral Triangle b)Acute Triangle c ) Obtuse Triangle d) Right Triangle
d) Scalene Triangle
2 a)base=7cm
Height =24 cm
Area of the right triangle = % x base x height
=% x7x24
=84 sq.cm
b)base =8 cm
height =15 cm
Area =% x base x height
=% x8x15

=60 sg.cm



